
 

JiziugPT.to
n Eu In unperturbed

problem

Hot 4h7 Eu In problem we

wantto solve

n El TX EI th En t

In In t Hh 7th In t

Hoth t En In

X Holn H'Inco's

Ei In t En l no

IT Ho 1h12 H In En tn

En In 7 En 1h07
etc



Incies

Y Ho Eam Iho o original
problem

x Ho En In Ea He'Hn
en e

ti HEEM In En t'll n

E lh

Firstordercor rections

En Hnn sn lH'ln
gagged

In 7
n im inylm ottdrag

m

c'in



m EY t m
With

secondordercorrection

En g
l H'm 12

Mth Eton y
off diag

Ei i ii i i
Notes o Ho Ino Eno 1h07

has to beable to solved
Assumes each Correetron

is smaller than Ho
preferable small contributions
converge



En Emc 0

Won't work

For most classes

In En si Ei

Example BI BOE BIBI
Bos Bz

It
EIE two Eo o E two

ios tf o

H iz i EE Wasx
o

y



E D

I

H'an no IH 1h07


